D-6612 Sub. Code

31011/33511

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com. (F & C) DEGREE
EXAMINATION, DECEMBER 2024.

First Semester
MANAGEMENT CONCEPTS
(CBCS 2018-2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL the questions.

1.  What is Management?

G TE@TEnD CTETMTE GTETERT ?

2. What do you mean by forecasting?
et sanfliiy updl BelliT idleug) ererer?

3. What is decision making?
WPlge| T(HSHSHE GTETMITE) GTEHT6T ?
4, What is meant by organization?
SiemwliLpen UHMl idleug) erere ?
5. What is upward communication?

CaCrrsdl QeI $56UMCSTLITL| TETMTE 6T6iTe ?

6. Explain the term leadership.
sameawGuUbL| e UsSms all6rs@s.



10.

11.

12.

Define the term directing.
@QuEENESD T@ID LUSSMS UMTULIMISHS.
What is meant by supervision?
Cupurienes LHH Mg eremer ?
What is Management Information System?
Ceramend SHeUDUPEND GTETHTE GTETET ?
What do you mean by TQM?
TQM updl Sellir idleug eretre ?

SECTION B — (5 x 5 = 25 marks)

Answer ALL the questions, choosing either (a) or (b).

(a) What are the importance of Management?
Cueramenwuler (psHusgiousms ellarsEs.
Or
(b) Bring out the importance of planning.
S L Bgedlen (WPpEH WSS IUSMS &(H.
(a) What are the characteristics of organization?

Senwlider @emdEwniger wrane ?

Or

(b) What is decentralization? State its merits.

LITEUEMESID GTGITMDITE) GTEITET ? HSEEL_UI [BEITENLDSHEET
TG,
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13.

14.

15.

16.

17.

(a) State the general principles of staffing.

venflwurert  Hluweargdler Gurgieunear Gamlumbhseaer
ENER
Or

(b) What are the barriers of communication?

55616 GFTLTY6r SHLSET WTane ?

(a) Discuss the various controlling techniques.

LOCaum sL(hur’( wsdasamer elleurdlss.

Or

(b) What are the characteristics of good co-ordination?

@b B emrdlamaniiider @GamrmHAunser wramel ?

(a) What are the principles of supervisor?

Cupurireeiwrerflenr CsmeTanaseT wWTeney ?

Or

(b) Describe the different process of management
information system.

Cuaramen sseue wpevpufler LOCaM Uighleasamar
clleumglgsaLd.
SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Discuss the various steps involved in managerial
planning.

Guemarenio S Blpseded oLdluerer uGaum
Lighlerasamar alleuflss.

Explain the principles of organization in detail.

Sianwliber Qararanasamer allfleurs allemd@s.
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18.

19.

20.

Describe the different types of leaders.

saneanGupueifler CeicuCoum cuanssamen allarsEs.

Enumerate the various controlling process.

s _(Hubsseder uCaum Ligsamer alleurdlss.

Explain the various factors affecting business ethics.
cuentls QpHlpamaamer LTHE@GHD sTreantlaamer allems@s.
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D-6628 Sub. Code

33512

DISTANCE EDUCATION

M.Com. (Finance and Control) DEGREE EXAMINATION,
DECEMBER 2024.

First Semester
BUSINESS LAW
(CBCS 2018-2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL questions.
1.  Define the term “contract”.
2. What are all the wagering contract?
3. What do you mean by privity of contract?
4. Define : Free consent.
5. What do you mean by performance contract?

6. What do you understand by novation?

7. Define ‘special’ damage.
8. What are the rights of ‘pawnee and pawnor’?
9. Define mortgage.

10. Define partnership, firm and firm name.



11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)

Elements of valid contract.
Or
Explain the conditions of Acceptance.
Describe the kinds of consideration.
Or

Write note on Minor’s contract.

What are all the difference between coercion and

undue influence?

Or
Explain the types of Quasi contract.
Describe duties of Bailer.

Or

Explain the termination of lien.

Explain procedure of admission of petition.

Or

What are the rights of secured creditors?
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16.

17.

18.

19.

20.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.
Explain classification of contract.
What do you mean by capacity of contract? Discuss the
details the provision of law relating to Minor’s
agreement.
Discuss the kinds of mistakes.

Explain the types of crossing.

Explain carriage of land.
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D-6614 Sub. Code

31013/33513

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com. (F & C) DEGREE
EXAMINATION, DECEMBER 2024.

First Semester
ADVANCED ACCOUNTING
(CBCS 2018-2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL the questions.

1. What is meant by Narration?
GSOLCUpgEISD LUDH iMleug ereren ?

2. What is meant by Journal Proper?
wepwrear GHUCUH ubHd Mgl eremme?

3. What is meant by Conversion Method?
LIHHIFD (Ppem LD Sidleug ereirer ?

4, Define the term Bill of Exchange.
LIHNE B TEUD LSSEMS UMTWNISS.

5. What is Pass Book?

QgebCav(H eTeTmmed erebTe ?

6. What is meant by Capital Expenditure?
wsdar Cewey LHN Hleug) ererer ?



10.

11.

What is Consignment Account?

DAL () SMTEHE CTETDTE 6T6HTE ?

What is meant by Minimum Rent?

GSODHSLLE uTLeng LHH idleugl eremme?

What do you mean by Cash in transit?

uanflilen Qs LMl Bellit ibleug) erevrer 2

What do you mean by Instalment Purchase System?

seuenants Gamerpged e ubd Helli dloug ereimer 2

SECTION B — (5 x 5 = 25 marks)

Answer ALL the questions, choosing either (a) or (b).

(a)

(b)

What are the advantages of Accounting?

SETHSE LIGOIGT HETENLOSHET WTEna ?

Or

Enter the following transaction in the sales returns
account.

January 2022, 1 Mohan returned goods worth
Rs. 250

10 Gopal returned goods worth
Rs. 500

28 Balu returned goods worth
Rs. 750.

Gemeu(md BLellgsamasamer allDLiemer S(HLiLI Seumddlc
udle| Cewis.

sareufl 2022, 1 Guors e Smriw Fr&E 6o

iy em. 250

10 Camumed  HpuQu  srsdlen
iy em. 500

28 ume) Hulu srsdler Sl
em. 750
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12.

(a)

Ram, retail merchant commenced business with a
capital of Rs. 12,000 on 01.01,2020. Subsequently on
01.05.2020 he invested further capital of Rs. 5,000.
During the year, he has withdrawn Rs. 2,000 for his
personal use. on 31.12.2020 his assets and liabilities
were as follows :

Assets and Liabilities Rs.

Cash at bank 3,000
Debtors 4,000
Stock 16,000
Furniture 2,000
Creditors 5,000

Calculate the profit or loss made during the year
2020.

01.01.2020 Sjerm @b ered Hevewenm eSlwmuimifl
eh. 12,000 (ps@yL e ellwmumyd Qgrirderi. Gogyb
QarLirEdlums 01.05.2020 &M eum  eh. 5,000
G WPHD CUTLLTT. HEUEUTETIq 6 (HenL L
Qemhgs LWEISSTS h. 2,000 T(hSgs Casmearrmr.
31.12.2020 Sem  Jeurgy  CEnsgissdr  LHOID
Qurmitiyser eTalHLmn @ (HHSS!-

Qerggisase LHHID CQUTmILIL&SET €.

aumidluled Qrréssn 3,000
SLGTTeT &eT 4,000
sr&S (UL 16,000
<1 60D &6V &0 2,000
sLabCsMTaar 5,000

2020 b  Yeariqed @erud  Ydwg BLLSMS
STES (h 5.

Or
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(b) The following are the account balance of Vimal
Agency after preparing Trading and Profit and Loss
account for the year ending 315t December 2014.

Rs. Rs.
Land and Building 1,50,000 Furniture 1,00,000
Closing stock 60,000 Bills payable 40,000
Cash in hand 75,000 Sundry creditors 50,000
Cash at bank 50,000 Capital 4,00,000
Sundry debtors 30,000 Net profit of the year 25,000
Bills receivable 50,000

Prepare Balance sheet of Vimal Agency.

Getreu(md eNeUTBIGET IGFDUT 31, 2014 YD ,6Tq 6D
lurury LHMID @eru BLLE sSarsms SUTHSS
9m@ dled erllagemalls@mwig).

. -

Bl wHpb Syl b 1 50,000 AHODSOET 1,00,000
Qs sredmuy 60,000 GeissH &ML WIdMIEE G 40,000
sy Qrrésh 75,000 LUHL® SLaTHCSTTEET 50,000
cumilullpLiL CQyrésid 50,000 P&SD 4,00,000
UL SLarrefsedr 30,000 SeueunameLw Blay @orub 925 000

QupisH&flw LIPDEEH 50,000
eile gmerefiudien @puyblerasd @Gilieu swmi&s.
13. (a) The Bank Overdraft of Mr. Kamal on 31-12-2018 as

per Cash Book is Rs. 4,500. From the following
particulars, prepare bank reconciliation statement:

(i) Unpresented cheques Rs. 1,500
(i1) Uncleared cheques Rs. 850

(i11) Bank interest debited in the pass book only
Rs. 250
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(iv) Bills collected and credited in the pass book
only Rs. 400

(v)  Cheque of Ashok dishonoured Rs. 250

(vi) Cheque issued to Kumar entered in the cash
column of the cash book Rs. 150.

31.12.2018 oerm . swed  eremUeufler  GyTEs
gliger ulg Guoédeueriupm ep. 4,500. GemeHD
clugrisefellpbg eumdl sflasl Hib Ulipueme swrilss.

1) sLMYssLULTE sTCFTEMOEET eh. 1,500

1) eu@onsrs srGsraes6r fp. 850

(1) eurdl QaGeL g6 WL (HIb ubm
eSS (HeTer eumbidl alllq em. 250

1v) eumdl GCsdColiged WLEHL  USGOTSSILL(H
Q6| eeUshSLILIL L 2 @iriquled . 400

V)  oCarsdler s1Gsmened Sl SELILL L g)
e. 250

(V) ©LIRsE dabhss srCsrae Crréss el iqer
Qyrés LgHulled LiFe| QeluiulL g ep. 150.

Or
(b) Information are given below :
Particulars Dr. (Rs.) Cr. (Rs.)
Prize Distribution Fund - 15,000

Prize Distribution Fund Investment 15,000 —
Interest received on such investment — 600

Prize distributed 300 —

How will you show the amount in the final accounts
of a non-trading concern?
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14.

saeudsarrarg EGp QarOEsliLl (hearerer.

Nleunmiser updml (em.)  euge] (em.)
ufle udlipgefiiy — 15,000
ufle Ldibgalliy B psaE 15,000 -
ey en Bgrar QuHD ey - 600
ufle udliThsallsss 300 -

(a)

(b)

auentls  Crmsswnm  Bneasder @mdl semssle
@s0smamsurearg erlillg  STETAESLIUEDL  TaTLMS
ST(H&.

A machine was purchased on 1%t January 2014 at a
cost of Rs. 19,000 and Rs. 1,000 was spent on its
installation. The depreciation is written off at 10%
on the original cost method every year. The machine
was sold for Rs. 10,000 on 30t September 2015.
Show the Machinery account for the two years.

smareufl 1, 2014 ojemm @ 19,000 IjLss6llame
Qaream_ em Qubdrsas eummdl . 1,000 Hlne s
Qewe| QeuwinrL g. QarOHCHTMID 2 @RTEnLOUITET
SLssallevew  pepuléd  10%  Csuibreromeng
egssILGSDg.  QeuLbur 30, 2015 e
@Quipdlyorearg  ep. 10,000  &fpsliLlLg. @y
A STHSEHEE QUBST saTEMmE SULITTES.

Or

Ravi took a colliery on lease. The dead rent was
Rs. 750 a year. Merging into a royalty of 35 paise
per tonne of Coal raised with the right to recover
short workings out of royalties of two subsequent
years from the period in which the short workings
arose. The output raised were :

Year 1 2 3 4 5
Output (tonns) 1000 1500 2500 1500 1000

Prepare short working account.
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15.

geil  SIRGD QTN (GSSHEEG  T(HSSIETETT.
GSODBSLLF UTL & UFLSSH D& eh. 750. geubleumm
LT@IS@D 35  &nEsaT  aigl 2 Mawssrans
Qeqsgiausns @UILEOGTeHTLTT.

palCeur  amgaid 2 famwsbsrasmu el
F(DFSONSG 2 GTeT  (GHDMDHSATE (GS5S5ME CFTensamu
Shss Qe Yarhs@ar Bls Ceuar@b. 2 hHusd
elluyd emeummm)

QU(BLLD 1 2 3 4 5

2 husd (Lemsefled) 1000 1500 2500 1500 1000

(a)

@D 2 HusSH savsdlenar sw GFuis.

From the following  particulars prepare
Departmental Trading and Profit and Loss Account
for the year ending 31.12.2015.
Dept. X  Dept. Y
(Rs.) (Rs.)

Stock on 01.01.2015 9,000 8,400
Purchases 27,000 21,600

Sales 42,000 36,000

Direct expenses 5,490 8,520

Postage 360 360

Stock on 31.12.2015 10,800 4,800

Indirect expenses for the entire business was
Rs. 3,900 which are to be divided in the proportion

of sales of the two departments.
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emeu@md  sseus6N6 (HHg 31.12.2015 @&
PlgeiemL b gepsaier ellwumury  @eru  BLLE
sasms sWrilés.

gleop  glewn
X Y

() (ep.)
01.01.2015 yerenpuwt &rédl(mLiLy 9,000 8,400
QaTeTpse 27,000 21,600
el HLIeneT 42,000 36,000
Criry Cgaeiarmbaser 5,490 8,520
sumed Claeger 360 360

31.12.2015 yemewpw grsd iy 10,800 4,800

(b)

eNlumumy Appen&E@GD 2 6tar wamps Cawellarmbiger
p. 3,900. @s0smanseow @@ glepsafler edllbHLemer
Slgliuen e udlibg Garerer GeueT(HIb.

Or

Bangalore Motor Service buys a motor car on
instalment system from Hind Motors Ltd. On
01.01.2021 under which payment is to be made on
December 31 for 4 years @ Rs. 50,000 p.a. interest
being calculated at 5% p.a. The cash price of the car
was Rs. 1,77,300. Depreciate the car at 10% p.a. on
diminishing balance method. Calculate the amount
of interest included in each instalment.

Qumiis@si  GuomLmr  sieied seuewant  (pappuiled
01.01.2021 et @bg  Comiirt  Blniwssb
@mbg e CurliLmt smey eumkdlwgl. eelbleum(m
BT 1qFDUT 31 Hem eh. 50,000 &g pren,
A@THEHEHSGE Cgranswurarg OFassiiuL. GCeuemmhib.
QU lqguineng (a@TH&E@ 5% A@GWh. Gomriimr smifler
Qrrésefene em. 1,77,300. e eTmSE@ 10%
Cosuwibreromearg @Gopbg OGad wIHOY  pevpudled
sasSlLILhSpg. eaCeunm seumans Csmangsuidaiid
o arer eullg Csmansenw sHemss(Hs.
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16.

17.

18.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain the various types of accounting concepts.

sasSlwe Camiumiger udCoum cuamssamer alleTsEs.

A sold goods to the value of Rs. 4,000 to B taking a bill at
3 months therefore. A discounted the bill at 10% p.a. with
his bank. On maturity, the bill was returned by the bank
dishonoured with Rs. 10 as noting charges, B paid
Rs. 1,000 and the noting charges and gave another bill at
three months for Rs. 3,000 and 10% interest but before
maturity he had become bankrupt and ultimately paid to
his creditors 80 paise in the rupee. Pass journal entries in
the books of A and prepare B’s account in the ledger of A.

A em. 4,000 Quprer Fr&@Gsamerds Bs@ aibpuamear Cguig
3 1% 2 6hTiq e GTHSSIE CsmamLi. A Sibg 2 a@mgwene
d@H @EMIEE 10 FsaissHd SeuBoLW sl
alLd  Qedgmt.  pdlieller  Gurgl, oibs 2 aimgue
LHSSLULR SHeuuliulLg GHémss slLewd @p. 10
B . 1,000 whmibd @hlsmss sULamsmss @a;rr@g,gﬂ
eh. 3,000 wHmIb 10 &g,e? 5 el lgs@ Coum eh 2 ewriquiena
(P&l 1TSS SD@s Carhssrr. e pdlire ss
(et S|GUIT é'iII)I'I'Lq_I_II_] emu SIS @ ser
STITONG  SLAHCST(HS S, @urru_l RETMES 80  eLFT
QarEssriulerearg. A elge @GOHuCul@El udlel sbs
Qapdled eriged B seaurs@ swrilsseyb.

From the following details prepare an income and
expenditure account for the year ending 315t December
2017.

Receipts and Payments Account
Receipts Rs. Payments Rs.

To Balance b/d 250 By Salaries 1,200

To Subscription By General expenses 300
2016 250 By Electricity 200
2017 1,000 By Books 100
2018 _ 200 1,450 By News papers 400
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Receipts Rs. Payments Rs.

To Sale of old furniture By Postage 50
(Cost Rs. 100) 60 By Furniture 250
To Rent received 740 By Balance cid 500
To Entertainment Gains 400
To Sale of News papers 100

3,000 3,000

Additional information :

()

(b)

(©

The club has 50 members each paying an annual
subscription of Rs. 25. Subscriptions outstanding on
315t December 2016 were Rs. 300.

On 31st December 2017, salaries outstanding
amounted to Rs. 100. Salaries paid included Rs. 100
for the year 2016.

On 01.01.2017 the Club owned land and buildings
valued at Rs. 10,000. Furniture Rs. 600 and books
Rs. 500.

2017 g&bUT 31 e (Pigud  eu@euril GFoeilers
sasams Yemeumd saeucsailelmhg SwuThss.

Qumiged WHMID FNSSHSD HeTEHE

QumgeEeT €. QegisgisseT 1.

@muy §/Qsm 250 Fbuemd 1,200
FHST Qurgl Geeelamisar 300
2016 250 Blebres . L_amTiDd 200
2017 1,000 LSgsmIsET 100
2018 200 1,450 Gewglgmerser 400
LempLl Sepsaer ellhmg suTe QFawey 50
(SIL&selena em. 100) 60 @& 250
uM®s Gubps) 740 004 &/Q) 500
QumripgICUTEE, eLpaLDd GU(HLDTETD 400
Qsndlgretse eflpng 100

3.000 '3.000
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19.

20.

Fa(HFe clleuTmhISeET

(1)

@)

Qs 50 2 mrlearTgEer o crerent. ¢elblemmeHLD
Qeqss5amiq LI e FHST oh. 25. 31 1gFDUT 20166
QupCGeueimqw bsT em. 300.

31 g&bur 2017, ety Garhul Ceuemgw FbueTDd
eh. 100. @) cleumesTiy 6 QeSS FDLIETSSI 6
2016&smar FbUeTDd . 100 CaibgaTerg).

01.01.2017 SieTm ASSHP&HSFH® eh. 10,000 FILILemer
Bl WwHMID SLligl (P ADDEOET . 600, LSSHHD
- 500 QB

Distinguish between consignment and joint venture.

Si@ulip wHnb Qearelamaraw CounLOEs.

Kolkata HO invoiced the goods to its Pune branch at cost

plus 25%. From the following details prepare the Pune
branch a/c for the year 2017.

Rs.
Stock 1.1.2017 invoice price 1,250
Stock 31.12.2017 invoice price 1,500
Debtors 1.1.2017 700
Debtors 31.12.2017 900
Cash sales for the year 5,700
Credit sales for the year 3,500
Goods invoiced from Kolkata 9,100
Rent 400
Wages 340
Sundry expenses 80
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QaTws55T s Aeimsh LGar Saersa, Frs@samern
gLssllmaCurh 25% Gorsgy  uliqualOdpg. &
Qarhsgiarer  eflurmsaiadpmhg UCear dHamers samsams
2017-1b YerigH@ Wt Cews.

€.
Fr&El iy 1.1.2017 @i jelane 1,250
&Sl 31.1.2017 @Lmieilene 1,500
sLameflger 1.1.2017 700
sLamaflger 31.1.2017 900
@eueumeig e Gyrés eflhHLener 5,700
©)eueumerTiq 6T &L 6T 6lMHLIenET 3,500
5@ @Lmiy ellene CasTosssmelsE 9,100
S’ L gl

UTL & 400
F0.60) 340
upue Qe ser 80
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D-6615 Sub. Code

31014/33514

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com. (F & C) DEGREE
EXAMINATION, DECEMBER 2024.

First Semester
BUSINESS ENVIRONMENT
(CBCS 2018-2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL the questions.

1. What is meant by Business Environment?

cuantls @ LHMl iHleug) eremer?

2. What do you understand by Social Responsibility of a
Business?

@@ auaflssdear gupsts Qumminber eped Briser ererer
yfisg Qarerdldirger?

3. What do you meant by Mixed Economy?
sl Qurmartgmrd LHd BeiliT Sidleug ereer?

4, What do you mean by Economic Planning?

Qumpermgmy S0 e LHd BelliT Sidleug) erere ?

5. Define Public Sector.
QUITEISHI®DE WL U TULIMI&ESE|LD.



10.

11.

12.

Define Disinvestment.

PSS N0&ESD eUMTLNIESELD.

What is technological environment?

QBTHOEIL LI @6 GTETHTEd 6T6HTE ?

Who is the current director general of WTO?

2 & UEss amwlibear sHCUTSW @QuEESHHT Ceearred
wImir ?

What are the types of Industrial Finance?

Qamflogienn HlHuder euamsser wramel ?

Expand "LPG" as per New Industrial Policy 1991.
ydw  GQsmfogen OQsrarens 1991@er L  “LPG”
elMeumésib.
SECTION B — (5 x 5 = 25 marks)
Answer ALL the questions, choosing either (a) or (b).

(a) Explain the importance of the business
environment.

cuantlas Galer pasHlusgieusms elarésse, .
Or

(b) What are the major areas of social responsibility of
a business?

@ auailagder Fepslt Qurmier s LG ser
WImen oy ?
(a) How is culture related to business?
sOTEFTTD euanflasgL 6 ereueumn CFTL L wig)?
Or
(b) What are the types of Economic Systems?

Qumrmermsry el safler cuasseT wWmanel ?

) D-6615




13.

14.

15.

16.

(a)

(b)

(a)

(b)

(a)

(b)

Explain the significance of Economic Planning.
QumTmeTTSMTTS S8l edleor W&IwsgleSms
cllené@a.

Or

What are the main objectives of Industrial Policy
19917

Qsmoaratens 1991@er &S  Crprésmiser
WITeneu ?

What are the differences between Privatization and
Disinvestment?

SNUTTLWLISESNG@SD  (PSSLmL  eled@eush@L
2 arem Caumum(H&ET Wrene ?
Or

What are the factors that govern the Technological
Environment?

Qamflomil L Goame Hlifeuds@n sryatsar wrame ?

What are the main features of Consumer Protection
Act 19867

m&sTGeunt UMgsTILE &FLLID 1986 @6  (pdHdHw
SDEFBIGET WITENG ?

Or
What the sources of Industrial Finance?

Qarfldogienn Bl sTIhRIGET WTamel ?
SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Briefly explain the various dimensions of business
environment.

auenflas  @eller  LOCeum UflbraTRISmET  HHESHDOTEH
NeT&saLd.
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17.

18.

19.

20.

What are the achievements and failures of Economic
Planning in India?
@ndwuraler Qummerrgsmrs S LBl elen FTHMETSHET HMILD
Coraveilger wmanel ?

Discuss in detail about the Industrial Policy in India at
different periods.

uoCGaum  sresLmigelle @psureid Csmflobsmedarans
ubdl efllfleurs efleurdlése]b.

Discuss in detail about the consumer rights and its
importance as per Consumer Protection Act, 1986.
m&sTCeur  umgsmiys &lLb  1986ear Ul  HSTGeuMT
o fleoogem wHMID g6  WPpaEEwWSgHeuDd ubHd  fleurs
elleurdlGsayb.

What is Industrial Finance? What are the functions of

Industrial Finance Corporation?

Qamflogienm Bl eemmdd eremer? Gsmfligienn B
Bimieuearsslen QeuUmpH&eT wranel ?

4 D-6615




D-6629 Sub. Code

33521

DISTANCE EDUCATION

M.Com. (Finance and Control) DEGREE EXAMINATION,
DECEMBER 2024.

Second Semester
OPERATIONS RESEARCH
(CBCS 2018-2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer ALL questions.
1. State surplus variable.

2. What is the principle of duality?

3. Write the best method for solving an assignment
problem.

4. Mention the two techniques used for project scheduling.

5. Give an example of a simulation model.

6. Mention three types of floats.

7. Define non-degenerate basic solution.

8. Define optimal solution of LPP.

9. Define the characteristics of queueing system.

10.  Write the rules for determining saddle point.



PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

11. (a)
(b)
12. (a)
(b)
13. (a)
(b)

What are the features of OR?
Or

Explain the artificial variable technique of solving
an LPP.

Express the following LPP in standard form.
Min z =5x; +7x,
Subject to :
X, +x,<8
3x;, +4x, 23
6x, +7x, 25
x1,%5 2 0.
Or
Find the dual of the LPP.
Max z=3x, —x, + x4
Subject to :
4x, —x, <8
8x; + x4 +3x5 212
5x, —6x, <13
X1,%9,%X5 20.
Use two-phase simplex method to solve.
Max z =5x; + 8x,
Subject to :
3x; +2x, 2 3,
X, +4x,24
X, +%x5<5H
Xy,%9 2 0.
Or
Prove that the dual of the dual is the primal.
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14. (a) Explain the methods of IPP.
Or
(b) Define simulation and write uses of simulation.

15. (a) A TV repairman finds that the time spent on his job
has an exponential distribution with mean 30 min.
If he repairs sets in the order in which they come in
and if the arrival of set is approximately Poisson
with an average rate of 10 per 8 hour day.

(1 How many jobs are a head of the set just
brought in?

(11) What is the repairman's expected idle time
each day?

Or
(b) Explain the PERT procedure.
PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
16. Describe simplex method of solving LPP.

17. Using duality to solve the LPP.
Max z =5x, +12x, +4x,

Subject to :

X, +2x, +x5 <5
2x, —xy +3x5 =2

X1,%9,%q 2 0.
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18.

19.

20.

(a) Explain the steps in the Hungarian method used for
solving assignment problem.

(b) What do you understand by restricted assignments?
Explain how should one overcome it.

Solving the IPP, maximize z = 3x; +4x,

Subject to :
3x; +2x, <8
x; +4x, <10 and

x,,%, 20 and are integers.
Solve the following DPP.
Minimize z =x; +x, + X4

Subject to : x; -x, - x; =27 and x;,x,,%5 2 0.
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D-6630 Sub. Code

33522

DISTANCE EDUCATION

M.Com. (Finance and Control) DEGREE EXAMINATION,
DECEMBER 2024.

Second Semester
ORGANIZATIONAL BEHAVIOUR
(CBCS 2018-2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL questions.
1. What do you mean by personality?
2. Write any four objectives of organizational behaviour.
3. What is meant by organizational changes?

4, What do you mean by work stress?

5. State any four causes for conflicts.

6. Define “Communication”.

7. What do you mean by career planning?

8. What is meant by organizational politics?

9. State any two merits and demerits of emotional
intelligence.

10. What do you mean by knowledge management process?



11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

Explain the types of values.
Or

Briefly explain the factors influencing individual
behaviour.

Describe the elements of organizational behaviour.
Or
Explain the characteristics of learning.

What are the determinants of organizational
culture?

Or
Write the different stages of conflicts.

Explain the different dimension of emotional
intelligence.

Or
Describe the evaluation of career planning.
Explain the different stages of groups.

Or

What are the types of communication?
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16.

17.

18.

19.

20.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
Describe the models of organizational behaviour.

Explain the differences between individual and group
decision making.

What are the advantages and disadvantages of emotional
intelligence?

What are the factors influencing organizational changes?

Explain the 1impact of organizational climate in
organizational behaviour.
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D-6618 Sub. Code

31023/33523

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com. (F & C) DEGREE
EXAMINATION, DECEMBER 2024.

Second Semester
ADVANCED COST ACCOUNTING
(CBCS 2018-2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL the questions.

1. Define 'Cost'.

SIL&sene cuenTwm.

2. What are "Elements of Cost"?

SIL&sMemaulled snmiseT WTene ?

3. Explain Halsey Plan.
anrdl b GHlEs g
4, What is Profit Sharing System?

rU LSITe| (Lpenm ETETDTed 6Teimen ?

5. What is Absorption of overheads?

Cueé Qeewaysefled B Ly pen GTeTmTED GrameT ?

6. What do you mean by Machine hour Rate?
ey wenll Cry eigd erammTed ereimer ?



10.

11.

Write a note on Retention Money.

SSE@GULIL| LIGRTLD 6TETMITED 6T60T6 ?

Write a note on cost plus contract.

Qeeval wHmib UUBSD Gbidg Hn GOILY s

Define job costing.

uentl serdsHwed cuenrwim.

What is the role of estimating in job costing?

uaflssasSled sanmsdl(heudlem Lirki@, eremer?

SECTION B — (5 x 5 = 25 marks)

Answer ALL the questions, choosing either (a) or (b).

(a)

(b)

A product is sold for Rs. 5,00,000 so as to show a
profit of 33.33% on cost price. Find out the profit on
sales in rupees and in %.

@@ CQummeT ep. 5,00,0006@ ehsiiLGEDng. Gsearme
cleneudler 33.33% emud e s@h. elhuemaruier
OMUSENS eHLIMI HMmID % @b e Hluia|b.

Or

Find out the economic order quantity and the
number of order per year from the following
information. Monthly consumption 3,000 units; cost
per unit Rs. 54; Ordering cost Rs. 150 per order,
inventory carrying cost 20% of the average
inventory.

Gemeumd saeudsatallmbg  Cummernsry euflenguder
SjeTe| WOHMID UHLESEDEGE QBT erarailEmsamnuis
sar_Hlwue|b. LISTHSHT HSTE 3,000 AOGSHET; 6@(h
welll. ellened eh. 54; e BT fer eflened ep. 150;
Fré@E  aOsgE Cesoqib gyrefl  Frs@sefleo 20%
FaUMGLD.
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12.

(a)

(b)

Calculate the earnings of worker's X and Y under
(1) straight piece rate system and (i) Taylor's
differential piece rate system from the following
details:

Standard time per unit = 12 minutes
Standard rate per hour = Rs. 60
Differentials to be used 80% and 120%

In a particular day of 8 hours, worker 'X' produced
30 units and worker 'Y' produced 50 units.

Yereupd efleugriseflalmbg (1) Cormar giar® 65
wep wHmid (11) Qrwefler Caumul L gear®h alds
wpeopler Ep Qsmforaiuber X womb Y @er
QUmELTWS ST&HS(Hs :

e weflll(hésrar Hlaveowner Crrbd = 12 HILSIL_kigeT
@, warfl Crrsdne@ Heaeuwrer & Leawrd = ep. 60
vweruhss Ceuariqw GCeumiLim®ser 80% WwHMID 120%
@m GOHubrL prefleo 8 wallCrrsdle, Gzmeomaf
X 30 wefl seeruybd, Y Gsmfleorefl 50 weill samaruyd
2 HusSH Qg

Or
Standard time per piece = 12 hours
Time worked X = 9 hours Y = 8 hours

Workers hourly rate = 0.50 calculate the earnings of
X and Y under the rowan plan.

Blevewmer Gryb = 12 wanflCryb
Cauanaw Gprb X =9 wenllCryd Y = 8 wanflCriyd

Qsmererisafler walCry aldlgnd = 0.50 Grmeuer
Srrsder Ep X woopmbd Y Qe eumeurenwis
FaT&E (h 5.

3 D-6618




13.

14.

(a)

(b)

()

Ascertain the amount of under or over absorption of
overhead from the following: Labour hour rate for
January 2009: Rs. 5 per hour, Labour hours worked
during the month: 20,000; overhead incurred in
January 2009: 1,12,800.
Yetreupeuareupded @ whg CwdBlaneuder & <ioag
SHEors 2 HlErelilulL eTeralsd s@TLhlua|b
smareull  2009&&mar Cgmflemert walCry N&lsb;
@ el Crrsdng ep. 5, wLIEsSHLd Coume Geug
e Gprb @ 20,000; gateudl 2009 @ eHUL L
Cuevbleney : 1,12,800.

Or

Compute the amount of under or over absorption of
overhead from the under mentioned details.

Machine hour rate for March 2010: Rs. 8 per hour
Machine hour worked in March 2010: 80,000

Overhead actually spent in March 2010:
Rs. 6,00,000.

&G OO Lur (erer clleurmiseiadl(mHg
@m@ﬁmwﬁm Ep g AHsors o HlErFriul L
SETEMEUS eSS () BIGET.

g 2010&smar @uibdly waflChrbd : @@ e
Cpisdn® - 8

@Qupdly Cmrb  wrié 2010Qe Ceumae CFuigg)
80,000

2 gmenoudléd LOMTE 20106 QeoeuEsuLr L
Cueblena : em. 6,00,000.

The following are the expenses of Balaji & Co., in
respect of a contract which commenced on
1t January 2010.

Rs.
Material purchased 50,000
Materials on hand 2,500

Direct wages 75,000
Plant issued 25,000
Direct expenses 40,000
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(b)

The contract price was Rs. 7,560,000 and the same
was duly received when the contract was completed
in August 2010. Charge indirect expenses at 15% on
wages. Provide Rs. 5,000 for depreciation on plant
and prepare the contract account and the contractee
Account.

sanaufl 1, 2010 e QsmmsLULL QULBSLD
Qgmirirs umers) & Gam.-aller GleaayseT GemelHLOTM).

CIB.
QUITEHET eUTBISLILIL L g 50,000

&l o drer 2,500
Quim(mL_&er
G eardluib 75,000

<g®e QesefllLiiuiLg 25000
Criyy Qe ser 40,000

@UUbBS 6ilened ep. 7,50,000 Y& @Q(BHSFH. UHEVL
2010 @& @UUBSD  (pheumlbSEUTEH g
@aopwrsl Qupliul L g caflugdled 15% WaDPS
Qseajsamer au@dlsEse b. g ameauier Cslinmarsshsems
fh. 5,000 QUPRISE|D WHNID @ULIBESSES SHaué@ Lhoib
RUUBSSTTT saT&ans W GFiiuie|b.

Or

How much profit, if any, you would allow to be
considered in the following case?

Rs.
Contract cost 5,60,000
Contract value 10,00,000
Cash received 5,40,000
Uncertified work 60,000

Depreciation made from bills by way of security
deposit 10%.
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15.

(a)

ereucuere| U, gGCseid @b,  LYeme LD
aupsfled LNENEs Siaindlésaid.

€.
@UUbS CFaa] 5,60,000
@ULBS WL 10,00,000
veanTd Slenl 553 5,40,000
sranpaissliLLmgs Ceuame 60,000

umgasmiiy eallilgsbsmens epod Wdsaid @ mbs)

Qewiwtiu@®b Csuinrerd 10%.

The profit as per cost accounts was Rs. 1,50,000.
Calculate the profit as per financial accounts on the
basis of the following information:

(1) Work overheat wear under required in cost
accounts by Rs. 6,200

(11) Administration expenses were under recorded
in financial accounts by Rs. 2,750.

(111) Depreciation charges over recovered in cost
accounts Rs. 1,900.

(iv) Interest received on investment Rs. 1,000.

Cewey samd@saflaniig erud . 1,50,000. Ye6meu(mbd
saegaflear gl  HlHs  sens@seflerig
OMUSMSEH STl (HBIGET :

Qeeveys sams@saild Csmeuiu@bd Coume geui abl
2 L &ET . 6,200

Blreurss Cewe|sear HlHs sams@satd ep. 2,750
Cauiorens sl Lawhiger BICL(Hdsuur L ep. 1,900

PSESL 1960 QUDLILILL @il lg @F. 1,000.

Or
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16.

(b)

Compute the profit shown by financial accounts
from the details given below :

Costing profit Rs. 25,000

Losses and expenses shown in financial accounts
alone :

Good will written off Rs. 5,000
Preliminary expenses return of Rs. 1,900
Dividend paid Rs. 6,000

Profit shown in financial accounts alone: Income
from investments Rs. 12,000.

ECp Car@ssuul (hearer cleurmsailal(bhg  HlHs

SETEGEHET ST OTUSMSE SaTsS (HBISET :
QFa| UL ¢F. 25,000
Bds sams@seid LUHL STLLUUHL  @UiL|&eT
LHMILD CFw6e EET :
GL eflé em. 5,000
<L GFeyser S er. 1,900
reyS0gTens emp. 6,000
B sams@said wIHGCL STLLLUUGL  @TUbD
WSS Hisaflen apLTETD eF. 12,000.
SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

You are required to calculate reordering level, maximum
level, minimum level and average stock level.

Two components A and B are used as follows;

Reordering Quantity :

A — 1,200 units ;

B — 1,000 units

Reordering Period :

A — 2 to 4 weeks

B — 3 to 6 weeks
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17.

Normal usage 300 units per week each

Minimum usage 150 units per week each

Maximum usage 450 units per week each.
mgmﬁ]mguu@ggeb rgﬂemu', fsul s Hleane ‘@mg)g .|_||'_'5c
Bleo wpmid  grmefl  LkiE Hloe gdweupan  Hriger
sansE L Gauem(HLb.

A vomdb B gdu Qe semser  Gereu(momm
vweru(hssiuGEerper; wneflessiudSESH 6rey :

A — 1,200 i0@ser ;

B - 1,000 <ie@ser

wpieuflensiLHSHSH ST :

A -2 s 4 eurrriiger

B -3 @psed 6 aurprusar

Fngmyent LwerUm(h eeubleumm aumypd 300 wefllser
GdDHSULE LwWeTUT(H eelbelmm eurpepd 150 wefllger
Sflsul s vwerunp eeubleumm aumypd 450 wiefll ser.

You are required to calculate the following for each of the
components.

(a) reordering level

(b) maximum level

(c) minimum level

(d) average stock level.

From the following particulars, calculate earning of a
worker under :

Time rate system, Piece wage rate, Halsey plan and
Rowan plan.

Wage rate — Rs. 2 per hour
Production per hour — 4 units
Dearness allowance — Re. 1 per hour
Standard time fixed — 80 hours
Actual time taken — 50 hours
Production — 250 units.
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18.

@aICleumm FmsEpsEGh Weareumeuaralheann Briser EemrddlL
Cauar(hib.

(<) wpeaflesiu@ssed Hleane

(<) <dsuls blae

(&) @oppsuls flow

(FF)  sgmafl L@ Hlene

Meireu(mLd eNleurrisetedl(BHg!, (I Qs memrafluder

QU(BHLDTETSENSS FHETéd (D BISET.

Coy aldls iy, ganrh cadwu cHdsbd, andd S b
wHmbd Crreusr L tb.

sardlw eNflsd — e wenfl CrrsHHE op. 2

e® wall Crrsdh@ e pusd — 4 dAw@ser

SjselilaneliLig — e weantl CrrsdnE 1 epumi

Blevewimer Gryb — 80 wanflCriyLd

ThssLLLL 2 @renwirear Crrb — 50 weantlGryD

2 HLGSH — 250 DO GSET.

The following details are available for the month of May

2010 relating two services departments A and B and
production departments R and S.

Apportionment Basis

Amount Rs. B R S

A 20,000 25%  40%  35%
B 15,000 - 40%  60%
R 30,000 - - -
S 32,000 - - -

Prepare a summary of overhead distribution under the
step ladder method.
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19.

@ran(® Caemeuser giewpser A wHhmib B wpmib 2 Husds
gepsar R wpmid S Qsrifumer Gemeu@md  alleurhiger
G 2010 wrggdle danL_sdlemmen.

udlirey @gliLenL

Ggmews ev. B R S

A 20,000 25% 40% 35%
B 15,000 - 40% 60%
R 30,000 - - -
S 32,000 - - -

ug ganfl epuler &p Cueablere HECUITsESS 6N
F(HESSMS SWTT QFliuia|b.

The following expenses were incurred on an unfinished

contract during the accounting year 2010 :

Rs.
Materials 90,000
Wages 80,000
Other expenses 5,000

Rs. 2,00,000 was received from the contractee, being 80%
of the work certified. Work done but not certified was
Rs. 5,000. Determine the profit to be credited to profit
and Loss Account in all the three alternatives given

below:
(a) Contract price Rs. 3,00,000
(b) Contract price Rs. 5,50,000

(¢) Contract price Rs. 12,00,000.
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SETHS LD e 2010 @@ WPYSSILLTE @ULBSSSH D

Yeeupd CFee 6T eIl L e :

@5.
QuITHL_&eT 90,000
860 80,000
wpm Cee|ser 5,000

@uUBSSTIALO MBS @ 2,00,000 QupLILILLg).
Couewer  smanmpeflsasliu’Lg. Ceaeme Gaug)

FmeHELp

Quproe ep.  5,000. &G Qar@&sliul(Heer  epeTm)
wromseiab @mub  WwHmb  @ULs  semsdd  eurey

eeudsliuL Ceuaitriqw erusamss Siomeafléseyb.

(@) @uubs eflepa em. 3,00,000
(<) @uubs edlene ep. 5,50,000
(@) euubs eHlene ep. 12,00,000.

20. Prepare a statement of reconciliation from the following :

Net loss as per cost accounts
Net loss as per financial accounts

Works overhead under recovered in costing

Rs.
34,500
40,950

6,240

Administrative overheads under recovered in excess 3,400

Depreciation record in costing

Depreciation charged in financial accounts
Interest on investment not included in costing
Goodwill written off

Provision for doubtful debts in financial account
Stores Adjustment credit in financial accounts

Loss of stock charged in financial accounts

11

11,200
12,500
6,000
5,000
1,260
950
3,000

D-6618
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emeumeuareubdldl(mbg F0TF SNGmasams SWTTESaLD.

Qee| sas@seteniilg By @i

Hld& sems@aseflarig Blay @i

Qeaveliled BUQLHdsriurL Ep Cuoablaen Ceuameasdr
flireurs Guophlsmeyser odswrs B QL HEsLiLr Ler
Qeaailer Cxuinmear uHey

H5s samg@saicv Caulbrarnd eugelsslLbhEng
WL g6 gmer el ly GFalld GarssiiLiLaildama

BOCQERTERTLD 6T(LPSLILIL L g

€.
34,500
40,950
6,240
3,400
11,200
12,500
6,000
5,000

BEs sansdler spCasasdbE L sLas@psstar @sI5E6 1,260

Hlg sens@aseflenr sflhsiigea &y evGLmiay
HlE& sems@safle euElssiu@b UkiE@ @il

950
3,000

12
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D-6619 Sub. Code

31024/33524

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com. (F & C) DEGREE
EXAMINATION, DECEMBER 2024.

Second Semester
FINANCIAL SERVICES
(CBCS 2018-2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL questions.

1. What is primary market?

(PSETID LITIEG FHEG GTGITDITC) GTeIe ?

2. What is capital market?
PPQGET LIThI(G FheNG GTEITMITED GTEITE ?
3. Define secondary market.

@ resTLmD ﬁmw LIThi@& FHevS alenyuim).

4, List the innovative financial instruments.

yglenwwrer Bl Lk smellsamer auflengLi(HSIs.

5. What do you mean by IPO?
IPO aveu § Sileug) wing?

6.  Define Leasing.
GHSSHE U T



10.

11.

12.

What is a mutual fund?

ugevLy HlE eremmmed ereser ?

Define merger.

ReTHenETSSe UaTWm).

Write the objectives of SEBI.

SEBI wer Cprésniger er(pgis.

What is finance company?

BlE flmeuarid eremmed erebren ?

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

Write a financial system in India.
@pdw HEGWOD sMiHs (PEDEL 6T(LHSIS.
Or

What is the need for financial innovation in a
company?

@m Bneearsdled Lgeovwrar Hllwud  GCsameu
GTEOTIDITE) GTEITENT ?

Difference between money market and capital
market.

BlE womib epesar shansuler GeumiLTH&ET eTenel ?

Or

State the global integration of financial market.

o ogatmeilw Hld shengullen gmmdlamariianus allefl.
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13.

14.

15.

16.

17.

(a)

(b)

(a)

(b)

(a)

(b)

Explain the functions of SEBI.
SEBI e uienfllsamer cflaré@s.

Or

Write the functions of hire purchase financing.

aurLeng Gametpsd Hliulder Lenflsamer er(pgis.

What are the steps involved in financing?

BlFweflitiuger o arer LigHlenesar wmenal ?

Or

Who is a portfolio manager? Write the role of
manager.

Guri_ CuredICGur Guemeri wmt? Guemerfesr Lkens

TGS

Write the different types of export finance.
ghmingl HlHuller euamssmer 6T(pgis.

Or
Write the need for export financing in India.

gpnind HlHuder Coemeuanw er(ps)s.
PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

Explain the stock market functions in India.

@pdw L@ ghangullen Lanflsamer alers@s.

Discuss the strengths and weaknesses of financial
services and market environment.

BlE  GCeeameuser WOHMID shag @Gosaier LWL LHMID
Loeiarhisamer clileurd.
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18.

19.

20.

Write notes on :

(a) IDBI
(b) IFCI
(¢cp LIC
(d) GIC
(e) UTI
fn GOy erpgs :
(<) IDBI
(<) IFCI
(@) LIC
() GIC
() UTL

Explain the functions of commercial banking.

cuentls cumidlsafien Lientlsamer allaTsEa.

Justify performance of Non-Banking financial companies
in India.

@pdwurefler  amdulwew  HH  gmgrs  Hnicuarsser
Qeweur@ser Hluruiubsgls.
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D-6620 Sub. Code

31031/33531

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com. (F & C) DEGREE
EXAMINATION, DECEMBER 2024.

Third Semester

INVESTMENT ANALYSIS AND PORTFOLIO
MANAGEMENT

(CBCS 2018-2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)

Answer ALL the questions.

1. Define Risk.

QLT euenTwmISSe,LD.

2. Expand OTCEI.
OTCEI g &ffleurs@s.

3. What do you mean by Forward Future?
wearGprsdlw erdlisreon LuHd Beli deug ererer?

4. Define Return Analysis.

QI(HEUT LU@GUUTUIMNE! elenTUIMi&EHe] .

5. What is meant by Fundamental Analysis?
SigliueL U@liumiie] upd idleug) ereer?

6. What do you mean by Portfolio Management?
Qam@Liy Coeramenn undl BelliT oideoug ererer?



10.

11.

12.

What is DEMAT account?

DEMAT sewé@, erenmméd ereime ?

What do you mean by Confidence Index?

BhAsms GNuiE ubm Bl sideug ererer?

What is meant by efficient market hypothesis?

Smepowirer Fhang Aeporeard LHH idleig eremer ?

What is security market line?

epemr FHeng (PSETENLD GTETMHITE) GTCITET ?

SECTION B — (5 x 5 = 25 marks)

Answer ALL the questions, choosing either (a) or (b).

(a)

(b)

()

(b)

What are the objectives of investment?
WSS 1q.6 CHTEEHBIGET WITENG ?
Or
What are the assumptions in CAPM?
CAPM w6 e ipmeummiger wrane ?
What are the difference between options and
futures?
MBULBEISERSEL  adiarasdn@nd @ Cuudrar
Caupurhiser wrene ?
Or

What are the strategic tools used in company
analysis?

Blmieesg e u@GLumieied LwerL (hgsLiL (Hib
epCGoorumu smellser wreneu ?
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13.

14.

15.

16.

(a) What are the benefits of mutual funds?

ugevUy Bldsaflen BeTannsHeT WTene. ?

Or

(b) Explain the three forms of Efficient Market
Hypothesis.

Smepowirer Fhang ADTETSSICT LPETN CLlg 6LBISENET
AT (55.
(a) Write down the functions of SEBI.
Q&bufer QFwurhsamer 6T(Lpgis.

Or
(b)  Write a short note on Dow Theory.
DOW Suf upid em Am @dllienu erpse,b.
(a) What are the differences between fundamental
analysis and technical analysis?
SligliLenL LGLUTeY WHmILb QzmedmiL L
uguurie) @eLGuw 2 drer Caumumrhser wrenae ?
Or

(b) What are the kinds of trading activities in stock
market? Explain.

LIMk&&F ghensudled GTGTEIT 6UEHS WLITET UTESE
BL6llg&E@&a56ET HenLGumib ? allers@s.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

"Systematic and unsystematic risks are the most
important risks in investment decisions", Comment and
Explain.

“pepwrer  LOHML  WPODWHD  SHUTWRSHE (PGSO
wyesaid s sHuwmear UTURISET, &MHSgH LHO
lfeurs eleTéasalb.
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17.

18.

19.

20.

What are the differences between capital market and
money market?

pOSETE  FHMSHGD LaE  FhnssGL  @en Cuiujerer
MgHwrgniger wrane ?
Explain Markowitz Model of Portfolio Theory.

Cumr_eCGurelCuir Gsmumiger wrrGasrail_ev wrdflenw
elaTsGs.

Explain Random Walk Theory.
Crerid eurd Huflenw updl ellfleurs ellerdse]b.
Describe the various investment options available in

India.

@pdureller e s@En LOCeum WPSOLH SFhSTILBIS®ET
aleufléaalib.
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31032/33532

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com. (F & C) DEGREE
EXAMINATION, DECEMBER 2024.

Third Semester
FINANCIAL MANAGEMENT
(CBCS 2018-2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer ALL the questions.

1. What is Financial Management?

HlE Ceramentn eremmmed ereTe ?

2. What are financial instruments?

HlE& smellsamer s(h&sLTE 68l6TsEHs.

3. State any two key financial markets.

gCaab @ e (Wp&Hlw e shangsamers GDlLLayb.
4, What do you mean by fixed working capital?

Bleneowimer penL(penn epagerd undl Bedli oidloig erere ?
5. State the components of cost of capital.

epsars dgweiler samsamars @&HILILALa|b.

6. What is meant by capital structure?

PLPESET SELDLIL| GTGITMITE) 6TEITET ?



10.

11.

12.

Define the term leverage.

QpwLCaTed smell erarn CFmhena U TLIMISESELD.
What is dividend policy?

me S0gTens Camdrand eTemmTe eTeire ?

State the meaning of International Financial
Management.

sieuCses HlFl Cuerarenwuler Cummenars @&mHILILGLa|ib.

What is capital budgeting?

ppeOSET Sl L LBIL G 6TeTmmed GTeimey ?
PART B — (5 x 5 = 25 marks)
Answer ALL the questions, choosing either (a) or (b).

(a) Define the term finance function.

BlF Qaweur® erern QFTdama U TLMI&HH6LD.

Or
(b) State the merits of debentures.

sLen LSSlTrisaten perensamard @&HILILGLa|b.

(a) Indicate the purposes served by short term finance.
Gndwu st Bl eprsiu@euger CrrésnhiEmeTs
GO ab.

Or
(b) What is Trade Credit? State its merits.

UTHESEH HLGIT GTGTDITED  GTEITET?  HFHE  [HEITENLDSE AT
G MG
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13.

14.

15.

16.

(a) State the advantages of having adequate working
capital in a firm.

@ Bneearsdled Curgrar BepL(pedn  (POSETLD

@ BLLSET Berennasamerd GDILALayLb.

Or

(b) List out the importance of cost of capital.

epegsard Ceweiler (psdlusgeisamsls L iguied(hs.

(a) What are the factors should be considered in
determining the capital structure of a company?
@@ Hnwsder epogear s Leablieu Siomeafliiuged

shsHed Camerer Couatrqw srreanflseT wreneu ?

Or

(b) What is composite leverage? How it is measured?
ol () QpLUCET® &HMmedl eTeTmTed eremer? g eTUiLlg
SjereilLLiLh&mg) ?

(a) State the merits and demerits of stable dividend
policy.
Blevowrer Fe s0smanss Oaretansuilen  BHemenLnaeT
LHMID Sawsmers @GO a|b

Or

(b) Explain the major sources of foreign currency
finance.

Qeuaflpr(p  mrewrw  HlFullenr W Hw  sTrRISMET
cMlemd@s.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

Explain the main functions of financial management.

BlE Coerarenwuder (psHlu Qewdurhaamer allems@s.
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17.

18.

19.

20.

Elucidate the different sources of working capital.

BEnL_(LPEnD EPOFEMH S| 6ot uoCGeum S FTIBISEET
Qzefle LB Sas.

What is cost of debt? Explain various methods of
computing cost of debt capital.

sLidamar OFe] 6TammIe) 6remean? &L 6T (PSS 6
Qeoeneus samsd(Heugharear LdGCean LPepNEMET 6l6Td@Hs.
Describe the arbitrage process under MM approach.

MM  s@@uweapder &Sp sphHeur  CQewdrpamenw
Neuf&geyLb.

Explain the types of leverages.
QpwLCETD HMmedl cumssmer 6llaTsEHs.
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D-6622 Sub. Code

31033/33533

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com. (F & C) DEGREE
EXAMINATION, DECEMBER 2024.

Third Semester
PRINCIPLES OF PERSONNEL MANAGEMENT
(CBCS 2018-2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)

Answer ALL questions.

1. State any four operational functions of personnel
management.

uenflwmert Cuenarenouler gGsad BremnE Cgweum (b
Ll SEeT dnmis.

2. What is job description?

Caueme elleurd erammed eTebrer ?

3. What are the reasons of man power planning?

weaflg &5 L0 ellen &TramThiseT wrenel ?

4, Mention the types of promotion.

ugadl 2 wireller euamssmars @GNILILAHS.

5. What do you mean by 360 degree appraisal method?
360 &M LI B e uHd HaliT dleug ererer?



10.

11.

12.

What is autocratic leadership?

TCHEFL ST SMOEMDESFHIGUD CTETDHTE) GTEITE ?

Write the benefits of high morale.

o Wi wer 2 miSuder LieTsamer LD 6T(HSIs.

State the types of discipline.

R(PSHSIET CUMEHMETE Fnmis.

What is meant by industrial relations?

Qzmegienn 2 majsear uHH e ereren ?

Mention any four personnel records maintained in an
organization.

®n Bneasded ugmoflssiu@n gCsaub  mrens,
uentlwmerrger LS Geuhsemers GmHLILAHS.

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

(a) Bring out the features of personnel management.

wewflwi et Cuoamessren Lo udl e QueLsamer
Qeuef&CamenTis.

Or
(b) What are the advantages of job analysis?

Cauaned LiGUUMLGHET BeTenDSET WTEne ?

(a) Mention the principles of organization.

Sienwlider Qsratanssamerds @GDlULAHs.
Or

(b) Briefly explain the steps involved in selection
process.
Caib0s[HiESHe0 Qeweumige o @rem Ulig-Sen e
F(HEHOTE N6TdHEs.
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13.

14.

15.

16.

17.

(a) State the objectives of performance appraisal.

Qewddper wHOEL g6 CrEsmhsmend dnms.

Or

(b) Describe briefly the importance of motivation.

oargGellssdler (PsHwsgasms HHEswns aleufss.
(a) List out the qualities of a good leader.

Q@ HO® Sanealflen @Gamrhisemar LiL g wiad(Hs.

Or

(b) What are the causes of absenteeism? Explain.

QUM S TN OGS TET STTERTRIGET WTanel ? 68l 6Té&Hs.

(a) Bring out the importance of collective bargaining.

LY Guiib Cuaeuge WwsHwsguSmS
Ceuef&QgmenTia.

Or

(b) State the different types of personnel records.

LOCaum euenswmer Lanfluimert Lle|samers gnmis.
PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain the process of human resource planning.

weaflgeuer S L0l Cewudwpampen 6lerd@s.

Describe the various sources of recruitment.

<L Cariygsnar uwGeum psrrmsamer LHM alleuss.
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18.

19.

20.

Enumerate the principles of wage and salary
administration.

sarflud  wHhmb  Fbuer  Hlieursgdler  CsmaTenssaner
SATES (.

Discuss the factors that determining job satisfaction.
Cauamer  SHmudeow  Fliawrulsgn — srraflsaert LM

UTdlés.

Elucidate the objectives and importance of personnel
audit.

vewflwimert sanfl&eangull e Crrésnisar WHmILD
W&HwsGUSMS THSSHIMTES.
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D-6623 Sub. Code

31034/33534

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com. (F & C) DEGREE
EXAMINATION, DECEMBER 2024.

Third Semester
CORPORATE ACCOUNTING
(CBCS 2018-2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)

Answer ALL the questions.

1. What do you understand by Surrender of Shares?
Ui@sear ULl sd updl Beli idleug ererer?

2. What is meant by Redeemable Preference Shares?
Bl ssanlgw (pearayflenols Lki@gEser ubHh idleug ererer?
3. What do you mean by Secret Reserve?

@radlw ariy upd el idleug eree?

4, List out any two factors affecting the goodwill.

BHEUWeny UTS&E@HD gCaed @ rear®H sryailsmer snmis.

5. What is meant by Amalgamation?
@hidameaniiL uHHl dleug cTerner ?

6. What is Capital reduction?

(PSSO GEDLUIL| GTETDHTE) GTEITET ?



10.

11.

What is meant by Post-acquisition Profits?

QUTEIGEUSDH (& LA6m FFLIq U1 @GMLILD GTETMITED GTETET ?

Who is Contributory?

LIRS L ILITGTT 6TesTLIGU T W ?

What do you mean by Non-Performing Assets?

Qewdur_pn Qersgisser LHH BelT ydleug eremer?

What is Responsibility Accounting?

QUL FETEE WD TETDTE TG ?

SECTION B — (5 x 5 = 25 marks)

Answer ALL the questions, choosing either (a) or (b).

(a)

A company issued Rs. 1,00,000 shares of Rs. 10
each. These shares were underwritten as follows :
X — Rs. 30,000 shares, Y-Rs. 50,000 shares. The
public applied for Rs. 70,000 shares. Determine the
liability of X and Y.

@@ Hlmiowrerg ep. 1,00,000 UBIGS®ET @h. 10 6IgD
Qeuefllll Lg. @uumki@serTeang WemeumHLTm @UILDIS
SjeflssliLlLg).

X-ep. 30,000 LIBIGSET Y-aF. 50,000 LIGIGSET
QurgissatlO(BHg h. 70,000 LRIGSE LML L 6.
X wpmib Y er Qumpilisener sarsdl(Hs.

Or
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12.

(b)

(a)

X Ltd. Issued 20,000 preference shares by
Rs. 10 each at a premium of Rs. 3 per share,
payable Rs. 2 per share on application, Rs. 5 per
share on allotment including premium, Rs. 6 per
share on first call and final call. Give the journal
entries.

X Blmiob 20,000 ereyiflentn Liki@ser erm ep. 10
GIgLD 2 dTeTeng LiMkiE, QeTm&E oh. 3 (paarnb Cairsg)
Qeuefldl L g. efawenriiugdler CuUTg UREG QaTNISS
tp. 2—1b, (e Caibs eesSh Bg Lki@ earndsd
. 5-b, s wHmD QmH Smpriler Bg Lk
RETM&EE h. 6-1b Less Ceuamhibd. wpsHEGMNIGCLLH
LSle|smaTs S(Hs.

From the following particulars, prepare a statement
of profit and loss for the year ended 31.12.2021.

Particulars Rs.
Sales 3,00,000
Purchases 1,95,000
Salaries 15,000
Selling expenses 3,000
Depreciation 1,500
Directors remuneration 1,750
Debenture Interest 1,090
Rent, Rate and Taxes 5,500
Advertisement 500
Audit Fees 1,500
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13.

(b)

(a)

19 6treu (mpLD 56U &6 60 (Hbgl 31.12.20216
(PlGeIML_WsFnlqll @emUbLl L Sarsdler Ml&maami
swmr Cgu1s.

clluphiger €.
aNpHLenest 3,00,000
QameTpsed 1,95,000
FLIETD 15,000
pueer Qewelarmhiger 3,000
Csuimerd 1,500
Quis@BT oaglwid 1,750
SL_HLILSHT el iy 1,090
QUTLEN&, Gisld WHmib euil 5,500
NleTbuybd 500
Sanfl&EESWTETT &L_L_6urLd 1,500
Or

Describe the various factors affecting goodwill.

BHCLwWeny UMdlE@En LoGeun sryavtsamern 6llersE@s.

Goodwill Co Ltd. took over the assets Rs. 1,75,000
and Liabilities of Rs. 15,000 of Raj and Co. for the
purchase consideration of Rs. 1,65,000 Goodwill Co.
Ltd. paid the purchase consideration by issuing
debenture of Rs. 100 each at a premium of 10%.
Give Journal Entries.

@reild  flgwn  Qrrg  fpeasdillGbs)
Qerggidsetns . 1,75,000-,  CQurmiligserns
h. 15,000-10 eT(hEE OQaramigl. @ser Csmeripge
LmILWeET eh. 1,65000-b H@b. @GLlelld Bimob,
@urey  Hlmeuarsdh@ e@etm  ep. 100 @iglbd  10%
eangdd sl (U usHrsms  QamETpsD
wpuwens desdwug. Caameuwner PsHESOLICLL(H
Lo Eemar S(Hs.

Or
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(b) Distinguish between Internal reconstruction and
External reconstruction.

261 wmS®we LHML  Geuell  LHIELEMG

CaupuBssis.
14. (a) Balance sheet as on 31.03.2016 was as follows:
Liabilities P Q Assets P Q
Rs. Rs. Rs. Rs.
Share capital 24,000 10,000 Sundry assets 42,000 20,000
Reserve 10,000 2,000 10,000 shares
Profit and in Q Ltd. 13,000 -

loss account 4,000 2,000
Sundry creditors 17,000 6,000
55,000 20,000 55,000 20,000

Shares were acquired by P Ltd. on 30t September
2015 Q Ltd. transferred Rs. 1,000 from profits to
reserve on 31.03.2016 Prepare consolidated Balance

sheet.
31.03.2016 BTEnGTW @muLBlenes @MUy
\Getreu(mLomm
Qumrmitiy&ser P Q Qersgisaer P Q
erp. erp. orp. orh.
L@ (e 24,000 10,000 Lédaues QeTssissdr 42 000 20,000
&y 10,000 2,000 Q AmwsHao

Qaru pLL sand@ 4,000 2,000 5.000 LBIGEHET 13,000 -

LU S

sLapGamiser 17,000 6,000
55,000 20,000 55,000 20,000

Qelibuir 30, 20156 P &l umi@seaer eurmidluig.
Q Fmwbd @Qerusdedmphbg . 1,000 31.03.2016
ST HTUL SamddH@ LIHOUILILL Gl (b aTHE
@muyblenes @GHumus Sumhéseb.

Or
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(b) Draw a specimen form of Liquidators final
Statement of account.

seveliumerfler @mid sars@ LIHM Lgeusms uamys.

15. (a) From the following prepare the Fire revenue
account for 2015-2016.

Rs.
Claims Paid 35,650
Premium received 80,000
Reinsurance premiums 8,000
Commission 12,000
Expenses of Management 18,000
Provision against unexpired risk (01.04.2015) 32,000
Claims unpaid on 01.04.2015 2,600
Claims unpaid on 31.03.2016 3,200

EpssaeupMelmhg & eu@meuriis  saTsas
2015-2016&@ swWil&se]ib.

€.
QequsdHw Carhsamaser 35,650
QubHD penaTod 80,000
LHISTUEL [ (LPESTLOWD 8,000
a6 12,000
Cuerareningd CFae|seT 18,000
Qa® PWrs QL TsTar ¢&i&@ (01.04.2015) 32,000
01.04.2015 ey QeaussriuLr Carilsamasger 2,600
31.03.2016 ey CeaussriuLr Carisamadser 3,200

Or
(b) What is IFRS? State its advantages.

IFRS erenmmmed eremen? saienl Ll HeiTanDSEeT &nnid.
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16.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

A Company issued for public subscription 40,000 equity
shares of Rs. 10 each at a premium of Rs. 2 per share
payable as under: On application Rs. 2 per share; On
allotment Rs. 5 per share (including premium); On first

call Rs. 2 per share; On second call Rs. 3 per share.

Applications were received for 60,000 shares. Allotment
was made pro-rata to the applicants for 48,000 shares,
the remaining applications being refused. Money
overpaid on application was utilized towards sums due to
allotment.

Mr. Raja to whom 1,600 shares were allotted failed to pay
the allotment money and first and second call moneys
and Mr. Hussain to whom 2,000 shares were allotted
failed to pay the two calls. These shares were
subsequently forfeited after the second call was made. All
the forfeited shares were sold to Mr. Babu as fully paid
up at Rs. 8 per share. Show the Journal entries to record

the above transactions.

@@ HmIbd 40,000 STHTTERT LIGIGSeT LkIE @6 ap. 10
eI, . 2 aarngdd GeualuillLg. efeamamriiLiggL e
fh. 21D, @FHSESL 16T Lilg eh. 5 (PO 2 GTLL), (LPSHE
SIMPLILLGET eh. 2-1D, @IerLmbd epUiLLer eh. 3—L1b
QumeUsTs 2 @Terg. 60,000 GlGTE@TLILGKIGET  cUbSS
48,000 eNl@meRTLILISTII&ERSG@E 6NHSTEany (pemLUiLiguLb
el elleRTEuTLILIBISET oM&SSLILILL 6. 6dleremTLiLISg) L6
Qupuiu’ L fstiugurer Qgrasullea @HsS 1gd &
Qewig Qareareugns Sroraflésiiul Lg.
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17.

S(m. TIMT GTETLGHEE 1600 LBIEGSET @5&&H CFuisdd
@81580H QgrensmuLb, (PSS LHMLD @) Fer_meug SLOLIL
Qzrenserwiuyd  OQeqss  seudledLmt.  Hm. o Caer
TETLIGU(B&@E 2,000 URIGSET @F&SLULLFD el
@ e SILPLIL|SEETU| LD Qeqiss SeudledlL L.
@QmeuseT  JMATSFID  @QUETLTeIE  WPULY  (Plghs
Wl ebreurit @mI9pLiLy QevwtiulLg). S| EGUGET
. LTy eTeTUeUHESG oh. 8 eI MG I 6flhHLeamer
Qevwtiul L g). Cuopamdw BL_6 G S ES@HES,
WsHGEHNUCULE uSHe|smar S(Hs.

Authorised capital of Z Ltd is Rs. 5,00,000 (50,000 shares
of Rs. 10 each) on 31.12.2006. 25,000 shares were fully
called up. On 31.12.2006, the following balances taken
from the ledger of the company.

Rs.
Opening stock 50,000
Sales 4,25,000
Purchases 3,00,000
Wages 70,000
Discount allowed 4,200
Discount received 3,150
Insurance (Paid upto 31.03.2007) 6,720
Salaries 18,500
Rent 6,000
General expenses 8,950
Printing and stationery 2,400
Advertisement 3,800
Bonus 10,500

8 D-6623




Rs.

Sundry debtors 38,700
Sundry creditors 35,200
Plant and machinery 80,500
Furniture 17,100
Cash at bank 1,34,700
Reserve 25,000
Loan from M.D 15,700
Bad debts 3,200
Calls in arrears 5,000
P and L alc 6,220

Additional information :
(a) Closing stock Rs. 91,500

(b) Depreciation on plant and machinery, furniture @
15% and 10% respectively.

(c) Wages, salaries and rent outstanding amounts
Rs. 5,200; Rs. 1,200 and Rs. 600 respectively.

(d) Dividend @ 5% on paid up share capital is to be
provided.

Prepare final accounts of the company.

Z VAL omassNssiul L pposard ¢p. 5,00,000-Fms
50,000 &mgmyen Uki@Gserrsdl ep. 10 eaigb GeuefludiLg).
31.12.2006—6 25,000 I_II'S.I@BSGT @Q_QG)J@ILD
SMPSSILLL gl 31.12.2006-6 Blmiw CuCrhsaflery @ mnhs)
THSSLILL L @(BUILSET MemeuhHomm)
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QSTLé85 768 UL
eflhHLienesr

QamreTpged

F5.60)

BETEBLIY AQUOEESS)
saT@EBLIg. GuDHDS)

sTULS0 (31.3.2007 eueny Ceqsdwig)
FLOLIGTLD

GUTLGN&

Qurg Cgwa|ser

DI&& OHYID 6T(PGHIEUmmaT
eSlerbLyLd

oa1&8 2erdlwid

upLe sLermeflaer

upLe sLatbCsmiser
sereun_i> wppi> Guipdld
enersglaent OLmmeTaeT
Qyrésh wHnib ek

Sy

Cuerare Qus@phLb @ mbg QubD &6

QUTIT& & L_6oT
i@ Hgiea

QeoruplLE &/@

10

1.
50,000
4,25,000
3,00,000
70,000
4,200
3,150
6,720
18,500
6,000
8,950
2,400
3,800
10,500
38,700
35,200
80,500
17,100
1,34,700
25,000
15,700
3,200
5,000
6,220
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G (HBD SHEUDGET :
(@) @mdl sr&dlmuy ep. 91,500
(<) Csuibreard @F&@Es : seTeurlid womib @ubd b

15%; evargleneant! ClLmmeTgEer 10%.

@) GQarhssiiur Ceangw  Qurpiyssdr  :  ged
h. 5,200; FbUETD eh. 1,200; UMLE& (. 600

(FF)  CequssiiuL ppgarsdled 5% LBRISTSTWLD 656 EsS.
Cuopsear_ elurhiseamers Osrar®h BHlmwsder @ mnid

sasms sWriléEsea|b.

18. X Ltd. and Y Ltd. are two companies carrying on business
in the same line of activity. Their Balance Sheets as on
31.12.2010 are given below.

Liabilities X Ltd. Y Ltd. Assets X Ltd. Y Ltd.
Rs. Rs. Rs. Rs.

Equity shares (Rs. 10) 3,00,000 1,00,000 L and B 50,000 -

General reserve 2,00,000 1,00,000 Pand M 3,560,000 1,50,000

Secured loan 3,00,000 50,000 Investments 50,000 -

Current liabilities 3,00,000 2,00,000 Stock 4,50,000 2,00,000

Debtors 1,560,000 50,000

Cash at bank 50,000 50,000

11,00,000 4,50,000 11,00,000 4,50,000

The two companies decide to amalgamate in the nature of
purchase into XY Ltd. The following further information

is given :
(a) X Ltd. holds 4000 shares in Y Ltd @ Rs. 12.50 each.

(b) All assets and liabilities of the two companies
except investments are taken over by XY Ltd.
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(©

(d)

(e)

Each share in Y Ltd. is valued @ Rs. 25 for the
purpose of the amalgamation.

Shareholders in X Ltd. and Y Ltd. are paid off by
1ssuing to them sufficient number of equity shares
of Rs. 10 each in XY Ltd. as fully paid up at par

Each share in X Ltd. is valued @ Rs. 15 for the
purpose of the amalgamation.

Show Journal entries to close the books of both the

companies.

X opmpid Y @reh Slmiwmkis@pd @Cr efgwmear aflwmuimybd
Qewidlermer. Seubdler 31.12.2010-6 @ mULbBlenavd @&mlLiL

STUILL (HeTerg).
Qumrmitiygar X Sl Y Sl Qersgisar
- -
s 2 flev Lk Hleod wHMID SLligl Lb
(5. 10 aigid) 3,00,000 1,00,000 @umdl wHHID
Aung sy 2,00,000 1,00,000 @updd
SiLwIer L6 300,000 50,000 @sSGSET
BLLIL Sr&Sl UL
@umgCiser 3,00,000 2,00,000 SLemailsdr
cuiidl @ Ly
11,00,000 4,50,000
XY Blmio QuuwpLer @ e (b

X el Y &S
- -
50,000 -

3,50,000 1,50,000
50,000 -

4,50,000 2,00,000

1,50,000 50,000
50,000 50,000

11,00,000 4,50,000

16l mILO IS @ LD

Rmhadmansdarnar. Spsranid Qe srriul (HeTerg.

(@) X &, Y &fli-éb 4,000 umi@ser ep. 12.50 6isd

(=)

MGUSHIGTOTE.

(PSOHSET

ey SMATSF

Qergg WHOILD

Qurmitigsener XY Blmiobd r(isg16 Camerdng.
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(@)

()

(2)

@mEdemariiysg Y Hnwsder eeubleumm Lki@D
eh. 25 aigd wHUSTEH Celwiiul Ler.

XY flpwsder ep. 10 wdluy Csmarr  wppeugid
Qequssiiul L ukiGser X LHod Y Bl
ur@@gnq@éz@ Gur@mmﬂ |6Te QJQI‘E.IS;I'JI_II'_I_GIST.
@MmEdamariiys@d X Bmwsdear eeubleumm Lbi@ED
eh. 15 aigd wHUEH Qeuwtiul Lar.

@raw® Hmw  sensms  (WPiss  WSHGSHLUICUL D

udlejsemar ST (hs.

19. From the balance sheet given below prepare a
Consolidated Balance Sheet of A Ltd. and its subsidiary
company B Ltd.

Balance Sheets as on 315t March, 2016
Liabilities A Ltd. B Litd. Assets A Ltd. B Ltd.
Rs. Rs. Rs. Rs.

Share capital : Land and building 6,40,000 2,00,000

Shares of Machinery 12,60,000 3,40,000

Rs. 10 each 25,00,000 6,00,000 Furniture 1,40,000 60,000

General reserve 3,60,000 1,20,000 40,000 shares

Profit and loss a/c  2,40,000 1,80,000 in B Ltd. 5,00,000
Trade creditors 3,50,000 1,00,000 Stock in hand 4,10,000 2,50,000
Debtors 3,80,000 1,00,000
Bank balance 1,20,000 50,000
34,50,000 10,00,000 34,50,000 10,00,000

At the date of acquisition of A Ltd of its holding of 40,000
shares in B Ltd, the latter company had undistributed
profits and reserves amounting to Rs. 1,00,000, none of
which has been distributed since then.
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Gereupd  @Libleve  @OlLGellphg A Blmiobd  wHmb
SIS Flenemt FbO Lefluf e B Blmingsl e
@mudlamannss @mLULblame @dluamu swn GlFiis.

31.03.2016 yemenmuwl @) HLiblene@mliy

QAUIOUSET A Apwn B Hgon Qamggisen A fgod B fgon
- . - €.

SLICYCELE Hloow wpoid slgLbd 640,000  2,00,000

L@ e Quipdlyhiser 12,60,000  3,40,000

M- 10 655 9500,000 6,00,000 <S@DHOET 1,40,000 60,000

Qug smiy 3,60,000 1,20,000 40,000 UBIGSET

oo prL (B fHywosde) 5,00,000 -
HEES, 2,40,000 1,80,000 &TEAGUY 4,10,000  2,50,000
auenfls sLanmailaar 3,80,000 1,00,000
sLapGsnisdr 350,000 1,00,000 @mdEmIL 1,20,000 50,000

34,50,000 10,00,000 34,50,000 10,00,000

A flpod 40,000 umigsmer B Bmingdld  eumnidlw
Cadlwerm B flmwgdled udlrpgelssiuLnrg @eorubd whmib

&L eh. 1,00,000 @Q(HHSSI. Agleied] Q&7 Gemud wHmib
Tl udibgeaissliuLelldeame.

20. From the following information of ABC Bank, prepare
profit and loss account for the year ended 31st March,

2013.
(in 000s)
Interest on Loans 2,590
Commission 82
Discount on Bills 1,060
Rent and Taxes 180
Directors Fees 30
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(in 000s)

Interest on savings bank deposits 680
Printing and Stationery 29
Interest of Fixed Deposits 3,170
Payment to Employees 540
Interest on Cash Credit 2,230
Interest on Overdrafts 1,540
Auditors Fees 12
Postage and Telegrams 14
Sundry Charges 17

Additional information :

(a) Provide for Contingencies Rs. 2,00,000

(b) Transfer Rs. 15,57,000 to reserves and

(¢) Transfer Rs. 2,00,000 to central government.

ABC  amdller  bemeu@md — sseucsamer  Camet(
31.03.20131 prGetm(® (PG W&snigul @M BL L SHEHmns
swmr Q&us.

(000

2 rsde)
sLar g Qupriul L el iy 2,590
EHC) 82
o Gmigwied WBHrem ey 1,060
QUMLens LHMLD eui 180
Qu&@BIT HL_Lanid 30
Galtiy eurudl emeuliLy WBgmer eulig 680
<SiE& LHYID eTPSICLTBET 29
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(‘000

2 irgSlo)
Blene eneuliLy gmer euliq 3,170
QzmflareflseEnsE Qesdwug) 540
QrréssLer smear eul_ig 2,230
auraidl Codeuayliupm Barer el iy 1,540
sanflEenasTeTTSET UL awrld 12
ST HMID Sh 14
upue Cleedieriger 17

Fa(HFHE GlleuTmhISET

(=) TIHTUMITS @81&@, h. 2,00,000.

(<) ep. 15,57,000 GQumorer Qgrens smldh@ wrH
Gauer(HLd.

(@) ep. 2,00,000 Qumorer Qsrens WSS yTsler HlEss
wrhn Ceuedr(Hb.
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D-6624 Sub. Code

31041/33541

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com. (F & C) DEGREE
EXAMINATION, DECEMBER 2024.

Fourth Semester
MANAGEMENT ACCOUNTING
(CBCS 2018-2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)

Answer ALL the questions.

1. Define Management accounting.

Cuereaenn SaTEEeme UenTwm&s.

2. List out any two uses of Management Accounting.

Cuoenamenn  semsslwueiear gCsed @reawT(H LweTsamer
Ul igwed (hs.

3. What is Trend Ratio?
Curg@ NHdlsd eremmmed erebmen ?
4, What is Ratio Analysis?

&g LiGUUMTLIG, GTETMTE 6T6iTen ?

5. What is Current Asset?

BLUILE QFTSg eTemmmed creume ?



10.

11.

12.

What is Cash Flow Statement?

Qrrés QU L DSME GTETDTE) CTEITE ?

Define the term Budgetary Control.

S uliqgueller slGUuurb erab LUSSMS U TLIMISHS.
What is Cash Budget?

Qyrés UL LIl 1qUIeh GTETMTE 6T6bren ?

What is Marginal Costing?

Qndhleme <L ss6ud cremmmed ereme ?

What is meant by Margin of safety?
UMgISTLUIL eTeene LD Mg erebren ?
SECTION B — (5 x 5 = 25 marks)

Answer ALL the questions, choosing either (a) or (b).

(a) Briefly discuss the scope of Management
Accounting.

Coorameny  saursSlwedlen  crimeenw  F(HESHOMS

clleurdl&s.

Or

(b) State the importance of Management Accounting.

Cuenamenn saumsdlweler (pEEHLSSHISMS F(Hs.

(a) What are the objectives of financial statements?

B flene sidsmasuier Crrésniger wrame ?

Or

) D-6624




b))  @®

(i1)

()

(i)

Current Ratio — 2.5,

Working Capital Rs. 60,000.

Calculate the amount of current assets and
current liabilities.

Opening Stock Rs. 29,000,

Closing Stock Rs. 31,000,

Sales Rs. 3,20,000,

Gross Profit Ratio 25% on sales.

Calculate Stock Turnover Ratio.

BLUL ellgh — 2.5;

BEL(LPEOD (LPOSATD — fF. 60,000,

BLUL Cerggsser womib B Qurmitilseamer
STEHSE (h &.

QaTL_&8 Fr&lHLIL| eh. 29,000;

@nid s mLiy ep. 31,000,

edlhuener em. 3,20,000.

Quwrss oru  Hdgd — edbuemarie 25%.
F1&S ML spHsl fssmss sasd(Hs.

13. (a) Calculate funds from operations from the following
profit and Loss account :
Particulars Rs. Particulars Rs.

To Salaries
To Rent

11,000 By Gross Profit 2,10,000
2,000 By Profit on

To Commission 3,000 sale of asset 7,000
To Provision By Refund of Tax 3,000
for depreciation 12,000

To Transfer to

general reserve 22,000

To Provision for tax 5,000

To Loss on sale of investment 15,000

To Discount on issue of shares 2,000

To Preliminary expenses 3,000
To Selling expenses 20,000
To Net Profit 1,25,000
2,20,000 2,20,000
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Qeweurpaefled@mbg  Qubp HHeow GDemeu@md T
BLUL sanrddledl(mhgl Semmdhdl(Hs.

Aupmiser €. AupriseT €.
DI 11,000 @wrés @muib 2,10,000
QUTL_6HS 2,000 Qerggisemear
silay 3,000 &ppgled> @mub 7,000
Cawionen @g15@ 12,000 @l by Qubpg 3000

CurgissmuldpE wrpdlwg 22 000
afl g5 5,000
epgaSiaL eflnpdld b 15000
L@ Qeuafluii () SemenLlg 2,000

Qsr_sss Cwesar 3,000
puenar QFva|ser 20,000
Blsy eomib 1,25,000
2,20,000 2,20,000
Or

(b) From the following balances you are required to
calculate cash from operations.

2016 2017 2016 2017
Rs. Rs. Rs. Rs.
Debtors 50,000 47,000 Accrued income 600 750
Bills receivable 10,000 12,500 Income received
Creditors 20,000 25,000 in advance 300 250
Bills payable 8,000 6,000 Profit made
Outstanding during the year — 1,30,000
expenses 1,000 1,200

Prepaid expenses 800 700
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Gemeu@md @@L selledpbg  QEuounbhsaia s
S5 Crrsssams sanssl(Hs.

2016 2017 2016 2017
- - - -

sLanmeleer 50,000 47,000 @upGeuaitgus

AupisHG v LIPREEE 10,000 12,500 eGLrETEEET 600 750

sLaibCgiser 20,000 25,000 emEmliy AUpLULL

CEIEELIGUITE auBLomanLDd 300 250

wIppIEE. G 8,000 6,000 SieLeuaTqd

QarEuL Ceugirigw FLig U @ e - 1,30,000

Qseailanise 1,000 1,200

Warsal g QegusSu

Qeeeilanise 800 700

14. (a) What are the requisites of a good budgetary control?
(T BeDE S LOuliguied &L (DL Lg 6T
perCgemasaT Wmenal ?

Or

(b) From the information given below prepare flexible
budget at 60% and 80% capacities :

Particulars At 75% capacity
Rs.

Variable overheads :

Indirect Material 7,500

Indirect Labour 22,500
Semi-variable overheads :

Electricity (40% fixed) 37,500

Repairs and Maintenance (80% fixed) 3,750
Fixed overheads :

Salaries 1,00,000

Insurance 5,000

Depreciation 25,000
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Gereu@md  ellugmseamers — Garem®  60%,  80%
OOYIESS s&sLY  Cpdlpels Sl sdeer gur

C&uis.
NLIyrIseET 75% <y mHmeded
€.
wrn&amigw CohHbaweysdr :
DS CFa6 sET 7,500
LDEDPS a6l 22,500
UGd wrn&amiqw CoHbswe|ser :
Weramy Gaowey (40% wrmmg)) 37,500
upgurriyb ugmwfiyn (80% wrorg) 3,750

LIOTE CF6SET :

FLbLIETLD 1,00,000
EIUNIAI O 5,000
Cauinmend 25,000

15. (a) From the following figures you are required to

calculate the following :
(1)  Profit Volume Ratio
(11) Margin of Safety
(111) Sales

(iv) Variable Cost

Fixed Cost Rs. 12,000, Profit Rs. 1,000, Break
Even Sales Rs. 60,000.
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16.

EpsasarL eflughigamerd Csmerm e (HLeIaTEIHENM
ST HL N1 5.

1) @eoru ukiselltiy gD
(1) uTEHSTIY eTebene
(1) edNpHuener
iv) b Fwe sEr.
Blenaws Cgawasem ep. 12,000, @emuld @p. 1,000,

gblene eflhLemar er. 60,000.

Or
(b) You are given the following extracts :

Fixed expenses Rs. 4,000, Selling price Rs. 80 per
unit, Variable expenses Rs. 60 per unit Calculate
Breakeven point in units and in rupees.

EpsaarL Qgrassd Qasrhéslul (Heararer.

Blevewmer GFe|ser ep. 4,000, allhuemer ellene it
SVGHG . 80, LMYID CFweysdT @r AVGES
ep. 60. gwbleveots Lerafl erapranilsansudiand emumuien

STES (h 5.
SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

What are the steps to be taken while installing a

management accounting system?

Coenamenn  samsdler (pavpsaer  Hlnieedled o eTer
uOCGaum Lilg&6T wrene ?
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17. You are given the following :

Balance Sheet as on 30t June

Liabilities 2009 2010 Assets 2009 2010
Rs. Rs. Rs. Rs.

Bills payable 50 75 Cash 50 70
Tax payable 100 150 Debtors 300 450
Sundry creditors 150 200 Stock 100 200
15% debentures 100 150 Land 100 120
10% preference capital 200 200 Building 250 225
Equity capital 300 300 Plant 200 180
Reserves 200 250 Furniture 100 80

Prepare a comparative balance sheet and a common size
balance sheet.

&G 2 arer fLIIGET STULIL (HeTeTer.

Gouybleaas @Bl gOdr 30 Sianm

Qurgiyser 2009 2010 GemdEIEseT 2009 2010

. . - -
Q&/wr & 50 75 Qrmésid 50 70
el eqids Coudirgwig 100 150 stameflser 300 450
sLaHEHTT 150 200 &7&E®GOY 100 200
15% &L amUgElymise 100 150 Hlew 100 120
10% parg@iflow uBEser 900 200 &L 250 225
FNBTTERT LI GSHET 300 300 Qupslyd 200 180
SMLILI&T 200 250 S@psaer 100 80
1,100 1,325 1,100 1,325

RUISLH @@Ly Blevaws @My, FLODGTE
@muybleas @hllieuwbd swumilésalb.
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18. From the following Balance sheets prepare fund flow

statement :
31st Dec. 31st Dec.
Liabilities 2013 2014 Assets 2013 2014
Rs. Rs. Rs. Rs.

Share capital 3,00,000 4,00,000 Machinery 50,000 60,000
Creditors 1,00,000 70,000 Furniture 10,000 15,000

Profit and Stock 85,000 1,05,000
Loss account 15,000 30,000 Debtors 1,60,000 1,50,000
Cash 1,10,000 1,70,000

4,15,000 5,00,000 4,15,000 5,00,000

Geraumd — @auubleow  @fluddi@ps  HH @l
SMlsmaEmw SLThss.

31 ebui 31 geburm
QurgiiyseT 9013 2014 Oemggissdr 2013 2014
- - - -

UmBIE (S 3,00,000 4,00,000 Swpdyd 50,000 60,000
sLabGarisd 100,000 70,000 SH@DHWET 10,000 15,000

Qaoru prié sr&El®BuY 85,000 1,05,000
HEES, 15,000 30,000 s-emefladr 1 60,000 1,50,000
@yrésd  1,10,000 1,70,000

4,15,000 5,00,000 4,15,000 5,00,000

19. Prepare a cash budget from April to June :
Months Sales  Purchases Expenses

(Rs.) (Rs.) (Rs.)
February 1,80,000 1,24,800 12,000
March 1,92,000 1,44,000 14,000

April 1,08,000 2,43,000 11,000
May 1,74,000 2,46,000 10,000
June 1,26,000 2,68,000 15,000
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20.

50% of the credit sales is collected in the month following
and the remaining in the second month 50%. Credit
purchases are paid in the next month. Cash at bank on 1st
April

Rs. 25,000.

gure psd et  euapulener  srasdnsE Crmés
S sag swnilss.

LD TG bl & 6T FHL_6T Qamempsd  gmadl

cAlHLener (em.) (em-)
(em-)

Giireu 1,80,000 1,24,800 12,000

oM 1,92,000 1,44,000 14,000

GguITe 1,08,000 2,43,000 11,000

G 1,74,000 2,46,000 10,000

edeir 1,26,000 2,68,000 15,000

sLen elpuemaried 50% elpumearerwsd CFTLTHS 6UHD
Shss WLIsSHQD, WBHD 50% @rarLreug LISSHQILD
UGOMGD. sLer Cararipsed Osmansurarg OSS WLISD
QessliLBb. LT PpFD Brald o 6Tem eumidl @)L
. 25,000.

From the following information, recommend the best
sales mix :

Sales Mixtures:

(a) 250 units of X and 250 units of Y
(b) 400 units of X and 100 units of Y
(¢) 400 units of Y only

(d) 150 units of X and 350 units of Y

Information :

Direct Materials: X-Rs. 8 per unit; Y-Rs. 6 per unit
Direct Wages: X- Rs 6 per unit; Y-Rs. 4 per unit
Variable Overhead 150% of Direct Wages

Fixed Overhead Rs. 750
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Selling Price: X-Rs. 25 per units; Y-Rs.20 per unit.

EPEEHT HaeUDGMETsS QSTaT(H 6rhe elHLMET Saeneamwl
CaibOsOEsmDd erarLmg Liflbgienrss.

Apuemer s :

(@) X-b 250 O@GSET WHMID Y-60 250 460G

(<)) X-6b 400 SOGHSET WOHMID Y- 100 a0 &&eT

(@) Y- b(Hb 400 DHOGHSET

(FF)  X-6b 150 HO@&S6T HMID Y-60 350 S60&HSET.
SHHCUMDGET :

Crrg QummLaser — X-g@redng . 8; Y-@rodlh@ m. 6
Crry amedl — X—g@rodlhE . 6; Y-@rodns . 4
wrmid CupHblsweyser — Crry gmadludle 150%

Blenewimer GohHbsae|ser . 750

puener allene — X-@reodlh@ . 25; Y-@rodh@ . 20.
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D-6631 Sub. Code

33542

DISTANCE EDUCATION

M.Com. (Finance and Control) DEGREE EXAMINATION,
DECEMBER 2024.

Fourth Semester
E-COMMERCE
(CBCS 2018-2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL questions.

1. What are the disadvantages of E-commerce?

2. Mention some protocols used in web services.
3. Write two advantages of on-line advertisement.
4.  Discuss the role of web server.

5.  State DHCP.

6. Define Net banking.

7. What is meant by CRM systems?

8.  State WAP.

9. What are the objectives of knowledge management?

10. Define paypal.



11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

Explain the functions of E-commerce.
Or

What is Internet? Explain the stages of Internet.

Explain the internet service provider with an

examples.
Or

Briefly explain file transfer protocol.

What are all the difference between XML and

HTML?
Or

Write note :
1 POP
(i) SMTP.

Explain the Net banking.

Or
Explain Architecture of Electronic CRM.
Explain Goals of SCM.

Or

Describe features of knowledge management tools.
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16.

17.

18.

19.

20.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
Describe E-Business models.

Explain the E-commerce stags.

What is website security? Explain the merits and

demerits of website security.
Describe SWOT of CRM.

Explain components of electronic SCM.
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D-6632 Sub. Code

33543

DISTANCE EDUCATION

M.Com. (Finance and Control) DEGREE EXAMINATION,
DECEMBER 2024.

Fourth Semester
RESEARCH METHODOLOGY
(CBCS 2018-2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL questions.
1. Define Hypothesis.
2. What is historical research?
3. What is research problem?
4, What is sample size?
5. What is Pilot study?
6. Write note on Delphi Technique.
7. State secondary data.
8.  Define case study.
9. What is research report?

10. What is personal interview method?



11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

Explain the significance of research.
Or

Describe the objective of research.

Explain the types of sample design.
Or

Write essay on statistical estimation.

What is secondary data? Explain the advantages
and disadvantages of secondary data.

Or

Write note :
(1)  Cross tabulation

(1) Discriminant analysis.
Explain the flow diagram for hypothesis testing.
Or
Explain limitation of testing of hypothesis.
Explain significant of questionnaire.
Or

Explain the stages of data processing.
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16.

17.

18.

19.

20.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
How to frame hypothesis? Explain its types.
Explain sampling and non sampling errors.
Briefly explain the significant of data processing.
Describe the research report.

Explain the structure of research paper.
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D-6633 Sub. Code

33544

DISTANCE EDUCATION

M.Com. (Finance and Control) DEGREE EXAMINATION,
DECEMBER 2024.

Fourth Semester
BANKING AND INSURANCE
(CBCS 2018-2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL questions.
1. What is meant by investment?

2. Write any four general precautions for opening of savings
bank account.

3. What do you mean by crossing?
4. Define subsidiary services.

5. What do you mean by Health Insurance?

6. What is meant by claim settlement?

7. Define Insurance pricing.

8. What do you mean by insurance underwriting?
9. What is meant by Re-insurance?

10. What do you mean by insurance ombudsman?



11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

What are the types of crossing?

Or

Explain the procedures for opening of new savings
bank account.

Write short note on :

(1) Statutory protections
(1) Miscellaneous services
(111) Executor.

Or

Explain the duties and authorities of collecting
banker.

Explain the importance of insurance.

Or

Explain the rules and regulations relating to
insurance accounting.

Explain the key elements of fire insurance contract.

Or

Describe the functions of insurers.

What are the steps involved in the process of
Insurance underwriting?

Or

Explain the major principles of insurance pricing.
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16.

17.

18.

19.

20.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.
Describe the origin of banking sector in India.
Describe the major reforms in India Insurance Industry.
Explain the types of Non-life insurance.

Explain the different documents needed for claim
settlement.

Explain the difference between Insurance and
Re-insurance.
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